
Opérations avec deux fractions (D)

Nom: Date: Note:

Calculez chaque résultat.

1.
10
3 − 10

8 =

2.
36
20 ÷

5
8 =

3.
34
8 − 5

3 =

4.
4
5 ×

35
11 =

5.
7
3 ×

27
13 =

6.
5
3 +

30
8 =

7.
21
6 × 3

7 =

8.
14
8 + 14

3 =

9.
87
18 −

20
7 =

10.
8
3 +

15
10 =
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Opérations avec deux fractions (D) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1.
10
3 − 10

8 = 80
24 −

30
24 = 50

24 = 25
12 = 2 112

2.
36
20 ÷

5
8 = 36

20 ×
8
5 = 288

100 = 72
25 = 22225

3.
34
8 − 5

3 = 102
24 − 40

24 = 62
24 = 31

12 = 2 712

4.
4
5 ×

35
11 = 140

55 = 28
11 = 2 611

5.
7
3 ×

27
13 = 189

39 = 63
13 = 41113

6.
5
3 +

30
8 = 40

24 +
90
24 = 130

24 = 65
12 = 5 512

7.
21
6 × 3

7 = 63
42 = 3

2 = 112

8.
14
8 + 14

3 = 42
24 +

112
24 = 154

24 = 77
12 = 6 512

9.
87
18 −

20
7 = 609

126 −
360
126 = 249

126 = 83
42 = 14142

10.
8
3 +

15
10 = 80

30 +
45
30 = 125

30 = 25
6 = 416
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